

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director Joseph H. Vicari
Deputy Director Gary Quinn
Commissioner Barbara Jo Crea
Commissioner Virginia E. Haines
Commissioner John P. Kelly

101 Hooper Avenue Toms River, New Jersey 08754-2191

Tel: (732)929-2005 Fax: (732)505-1918

Board Meeting Agenda

Date: May 17, 2023 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding Contracts for the furnishing and delivery of SNOW PLOW BLADES, GRADER BLADES AND BOLTS to Chemung Supply Corp.; H.A. DeHart & Son, Inc.; John Guire Supply, LLC and Winter Equipment Company, Inc., the lowest qualified bidders. No bids were received on Item Nos. 18, 19, 23 and 24. They will be rebid. (B2023-79)

Official Resolution#			2023000691							
Meeting Date				05/17/2023						
Introduced Date			C)5/1	7/2	023	3			
Adopted Date			C)5/1	7/2	023	3			
Agenda Item			ŀ	-5						
CAF#										
Purchase Req. #				B2023-79						
Result			Adopted							
COUNTY COMMISSIONER	PRES.	ABS.		MOVE	SEC	AYE	NAY	ABST.		
Vicari	~					~				
Quinn	~				~	~				
Crea	~					~				
Haines	~					~				
Kelly	~			~		~				

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Clerk Of The Board



RESOLUTION

May 17, 2023

WHEREAS, on April 4, 2023, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of SNOW PLOW BLADES, GRADER BLADES AND BOLTS for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

Chemung Supply Corp. 2420 Corning Rd. Elmira, NY 14903 (607) 733-5506

John Guire Supply, LLC 187 Brighton Avenue Long Branch, NJ 07740 (732) 222-0613

Usinage Pro 24 Inc. **DBA Nordik Blades** 451 des Batisseurs Val-des-Sources, Quebec, Canada JIT 4V8 (819) 879-0047 ext 206

Name and Address of Bidder

H.A. DeHart & Son, Inc. 311 Crown Point Road Thorofare, NJ 08086 (856) 845-2800

Winter Equipment Company, Inc. 1900 Joseph Lloyd Parkway Willoughby, OH 44094 (800) 294-6837

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bid, according to specifications, in each instance, be accepted, namely, that of CHEMUNG SUPPLY CORP.; H.A. DEHART & SON, INC.: JOHN GUIRE SUPPLY, LLC and WINTER EQUIPMENT COMPANY, INC. No Bids were received on Item Nos. 18, 19, 23 and 24. They will be rebid.

NOW, THEREFORE, BE IT RESOLVED by the BOARD COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into a contract, accepting the bid for the furnishing and delivery of Snow Plow Blades, Grader Blades and Bolts for the County of Ocean, for the contract period effective from date of award through May 16, 2024, a period of one (1) year, OR until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A 40A:11-15, as follows:

Introduced d

May 17, 2023 Adopted on: May 17, 2023 Official Resolution#: 2023000691

A. CHEMUNG SUPPLY CORP. for eleven (11) items, to wit:

<u>ITEM NOS.</u> 1, 2, 4, 5, 6, 10, 11, 12, 13, 14 and 15.

This vendor has extended this contract to County Cooperative Contract System Participants.

B. H.A. DEHART & SON, INC. for three (3) items, to wit:

ITEM NOS. 20, 21 and 22.

This vendor has extended this contract to County Cooperative Contract System Participants.

C. JOHN GUIRE SUPPLY, LLC for one (1) item, to wit:

ITEM NO. 25.

This vendor has extended this contract to County Cooperative Contract System Participants.

- D. WINTER EQUIPMENT COMPANY, INC. for six (6) items, to wit: ITEM NOS. 3, 7, 8, 9, 16 and 17.
- 2. Payments for the materials to be acquired by these contracts shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2023-79.
- 4. BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, County Department of Purchasing, Department of Finance, Vehicle Services, and the successful bidders.

Adopted on: May 17, 2023 Official Resolution#: 2023000691

PROPOSAL DOCUMENT REPORT
BId No. TBD
SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Documents (doc, docx, rtf, txt, xls, xlsx, pdf) Images (jpg, png, bmp, tif)

No response submitted

8. Acknowledgement of Submission of Forms from Current Bid Package*

Bidders shall complete all documents and acknowledge all terms included with the bid package. All documents should be from this bid package as forms change frequently and the most updated forms are provided in this specification. The forms must not be dated or executed prior to the date of advertising. Failure to follow these instructions is cause for rejection.

Confirmed

9. Submission of Bid Package*

By submitting a response to this solicitation, the Vendor understands and acknowledges that all required documents to this solicitation must be submitted and that failure to do so may be cause for rejection.

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

PRICE TABLES

SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments
!		Snow Plow Blade, 6" wide x ½" thick x 8' long with ½" Top Bolt Holes for Western Plow, Western Part Number 49089, As Specified	50	EA	\$72.25	\$3,612.50	·	

Introduced on:

May 17, 2023

Adopted on: May 17, 2023

Official PRESEDENTIAL BID - SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Page-5

CHEMUNG SUPPLY CORP.

PROPOSAL DOCUMENT REPORT Bid No. TBD SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Commer
2	Snow Plow Blade, 6" wide x ½" thick x 8½' long with ½" Top Bolt Holes for Western Plow, Western Part Number 49086, As Specified	50	EA	\$76.50	\$3,825.00		
3	Snow Plow Blade, 6" wide x ½" thick x 9' long with ten ½" Top Bolt Holes for Western Plow, Western Part Number 49251, As Specified	100	EA	\$85.50	\$8,550:00		
4	Snow Plow Blade, 6" wide x %" thick x 8' long with %" Bolt Holes for Western Pro Plus Contractor Grade, Part Number 66980, As Specified	200	EA	\$90.85	\$18,170.00		
5.	Snow Plow Blade, 6" wide x %" thick x 8½' long with %" Bolt Holes for Western Pro Plus Contractor Grade, Part Number 66975, As Specified	100	EA	\$96.00	\$9,600.00		
6	Snow Plow Blade, 6" wide x %" thick x 9' long, 11 Hole for Gledhill Wing Plow, Gledhill Part Number 7784-A1, As Specified	50	EA	\$96.00	\$4,800.00		
7	Snow Plow Blade, 6" wide x %" thick x 9' long with %" Bolt Holes for Western Pro Plus Contractor Grade, Part Number 66901, As Specified	100	EA	\$106.75	\$10,675.00		
8	Snow Plow Blade, 6" wide x %" thick x 10' long for Western Plow, Western Part Number 58818, As Specified	100	EA	\$117.00	\$11,700.00		
9	Snow Plow Blade, 6" wide x %" thick x 11' long with %" Bolt Holes for Gledhill Plow, Gledhill Part Number 7784-A3, As Specified	300	EA	\$160.00	\$48,000.00		
10	Rubber Snow Plow Blade, 8" wide x 1 ½" thick x 8 ' long for Western Plow, Western Part Number 608291, As Specified	40	EA	\$170.00	\$6,800.00		
11	Rubber Snow Plow Blade, 8" wide x 1 ½" thick x 8 ½' long for Western Plow, Western Part Number 608292, As Specified	40	EA	\$180.00	\$7,200.00		
12	Rubber Snow Plow Blade, 8" wide x 1½" thick x 9' long for Western Plow, Western Part Number 608321,	40	EA	\$267.00	\$10,680.00		
13	Rubber Snow Plow Blade for Gledhill plow, 10" wide x 1½" thick x 9' long with Bolt Hole Pattern AS PER ATTACHED SKETCH. Same Bolt Hole Pattern as Gledhill Part Number 7210-B9, As Specified	50	EA	\$325.00	\$16,250.00	/	
14	Rubber Snow Plow Blade, 10" wide x 1½" thick x 11' long with Bolt Hole Pattern AS PER ATTACHED SKETCH. Viking Part Number 180071, As Specified	50	EA	\$30.00	\$1,500.00		

Adopted ROPOSAL DMAY 17/2-2023 Official Resolution#: 2023000691 Bid - SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

CHEMUNG SUPPLY CORP.

PROPOSAL DOCUMENT REPORT Bid No. TBD SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments
15	Universal Curb Shoe for Gledhill Plow, Chemung Part Number, OST-1500, As Specified	200	EA	\$33.00	\$6,600.00		
16	Moldboard Shoe for 11' Gledhill Plow, Gledhill Part Number 15646-C or SAM Buyers Part Number 1317140, As Specified		EA	No Bid	No Bid	Х	
17	Plow Shoe (Mushroom Type) for Gledhill Plow, Gledhill Part Number SP-185-Hl, As Specified		EA	No Bid	No Bid	Х	
18	Mushroom Shoe Assembly for Gledhill Plow, Gledhill Part Number 7230-A11, As Specified		EA	No Bid	No Bid	X	
19	Plow Shoe Bolt for Gledhill Mushroom Shoes (Square Head), Gledhill Part Number 5308-A532, As Specified		EA	No Bid	No Bid	Х	,
20	Snow Plow Blade Carriage Bolt for Western plow, ½" x 2" USS Grade 5 with Nuts, As Specified		EA	No Bid	No Bid	Х	
21	Snow Plow Blade Carriage Bolt, ½" x 4" USS Grade 5 with Nuts, As Specified		EA	No Bid	No Bid	X	
22	Snow Plow Blade Carriage Bolt for Steel Blades, %" x 2%" L USS Grade 5 with Nuts, As Specified		EA	No Bid	No Bid	X	
23	Snow Plow Blade Bolts for Gledhill Plow Rubber Blades and Curb Shoes, %" x 4" USS Grade 5 Alloy with Grade 5 Nuts, As Specified		EA	No Bid	No Bid	X	
24	8" Caster Wheel Assembly for Gledhill Plow, Gledhill Part Number, 7230-A15-8, As Specified		EA	No Bid	No Bid	Х	
25	Snow Deflector for Viking Plow, %" thick x 12" wide x 11' long, Buyers Part Number 1309132, As Specified		EA	No Bid	No Bid	X	

Introduced on:

May 17, 2023

Adopted Proposal DMay 17 = 302 REPORT
Official Resolution#: 2023000691
Bid - SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

PROPOSAL DOCUMENT REPORT Bid No. TBD SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments
16	Moldboard Shoe for 11' Gledhill Plow, Gledhill Part Number 15646-C or SAM Buyers Part Number 1317140, As Specified	,50	EA	\$184.77	\$9,238.50		,
17	Plow Shoe (Mushroom Type) for Gledhill Plow, Gledhill Part Number SP-185-HI, As Specified		EA	No Bìd	No Bid	Х	
18	Mushroom Shoe Assembly for Gledhill Plow, Gledhill Part Number 7230-A11, As Specified		EA	No Bid	No Bid	Х	
19	Plow Shoe Bolt for Gledhill Mushroom Shoes (Square Head), Gledhill Part Number 5308-A532, As Specified		EA	No Bid	No Bid	Х	•
20	Snow Plow Blade Carriage Bolt for Western plow, ½" x 2" USS Grade 5 with Nuts, As Specified	200	EA	\$0.75	\$150.00		
21	Snow Plow Blade Carriage Bolt, ½" x 4" USS Grade 5 with Nuts, As Specified	1,000	EA .	\$1.18	\$1,180.00		
22	Snow Plow Blade Carriage Bolt for Steel Blades, ¾" x 2½" L USS Grade 5 with Nuts, As Specified	3,000	EA	\$1.49	\$4,470.00		
23	Snow Plow Blade Bolts for Gledhill Plow Rubber Blades and Curb Shoes, %" x 4" USS Grade 5 Alloy with Grade 5 Nuts, As Specified	-	EA	No Bid	No Bid	X	
24	8" Caster Wheel Assembly for Gledhill Plow, Gledhill Part Number, 7230-A15-8, As Specified		EA	No Bid	No Bid	X	
25	Snow Deflector for Viking Plow, %" thick x 12" wide x 11' long, Buyers Part Number 1309132, As Specified	100	EA	\$161.41	\$16,141.00		

Introduce ROPOSAL MOYCU MERPI REPORT

Adopted on: May 17, 2023

Official Resolution#: 2023000694 ADES, GRADER BLADES, AND BOLTS

Pap 7

JOHN GUIRE SUPPLY, LLC

PROPOSAL DOCUMENT REPORT
BID No. TBD
SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments
15	Universal Curb Shoe for Gledhill Plow, Chemung Part Number, OST-1500, As Specified	,	EA	No Bid	No Bid	Х	
16	Moldboard Shoe for 11' Gledhill Plow, Gledhill Part Number 15646-C or SAM Buyers Part Number 1317140, As Specified		EA	No Bid	No Bid -	X	
17	Plow Shoe (Mushroom Type) for Gledhill Plow, Gledhill Part Number SP-185-HI, As Specified		EA	No Bid	No Bid	Х	
18	Mushroom Shoe Assembly for Gledhill Plow, Gledhill Part Number 7230-A11, As Specified		EA	No Bid	No Bid	Х	
19	Plow Shoe Bolt for Gledhill Mushroom Shoes (Square Head), Gledhill Part Number 5308-A532, As Specified		EA	No Bid	No Bid	Χ .	
20	Snow Plow Blade Carriage Bolt for Western plow, ½" x 2" USS Grade 5 with Nuts, As Specified		EA	No Bid	No Bid	Х	
21	Snow Plow Blade Carriage Bolt, ½" x 4" USS Grade 5 with Nuts, As Specified		EA	No Bid	No Bid	X	
22	Snow Plow Blade Carriage Bolt for Steel Blades, ¾" x 2½" L USS Grade 5 with Nuts, As Specified		EA	No Bid	No Bid	Х	
23	Snow Plow Blade Bolts for Gledhill Plow Rubber Blades and Curb Shoes, ¾" x 4" USS Grade 5 Alloy with Grade 5 Nuts, As Specified		EA	No Bid	No Bid	Х	,
24	8" Caster Wheel Assembly for Gledhill Plow, Gledhill Part Number, 7230-A15-8, As Specified		EA	No Bid	No Bid	Х	
25	Snow Deflector for Viking Plow, ¾" thick x 12" wide x 11' long, Buyers Part Number 1309132, As Specified	100	ĖA	\$139.50	\$13,950.00		

Introduced on: May 17, 2023

Adopted PROPOSAL DOOD MERS REPORT
Official Rigolution# 202300694
BLADES, GRADER BLADES, AND BOLTS

WINTER EQUIPMENT COMPANY, INC.

PROPOSAL DOCUMENT REPORT Bid No. TBD

SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bld	Comments
1	Snow Plow Blade, 6" wide x ½" thick x 8' long with ½" Top Bolt Holes for Western Plow, Western Part Number 49089, As Specified	50	EA	\$72.84	\$3,642.00	,	Black Cat #WES 49089 ** Quoting All Blades For Carriage Bolts
2	Snow Plow Blade, 6" wide x ½" thick x 8½' long with ½" Top Bolt Holes for Western Plow, Western Part Number 49086, As Specified	50	EA	\$77.37	\$3,868.50	. ,	Black Cat #WES 49086 ** Delivery 5 Weeks ARO
3	Snow Plow Blade, 6" wide x ½" thick x 9' long with ten ½" Top Bolt Holes for Western Plow, Western Part Number 49251, As Specified	100	EA	\$81.93	\$8,193.00		Black Cat #WES 49251
4	Snow Plow Blade, 6" wide x %" thick x 8' long with %" Bolt Holes for Western Pro Plus Contractor Grade, Part Number 66980, As Specified	200	EA	\$112.20	\$22,440.00		Black Cat #WES 66891-5
5	Snow Plow Blade, 6" wide x %" thick x 8½' long with %" Bolt Holes for Western Pro Plus Contractor Grade, Part Number 66975, As Specified	100	EA	\$96.51	\$9,651.00		Black Cat #WES 63985-5CB5
6	Snow Plow Blade, 6" wide x %" thick x 9' long, 11 Hole for Gledhill Wing Plow, Gledhill Part Number 7784-A1, As Specified	50	EA	\$102.14	\$5,107.00		Black Cat #PBA 5610854
7	Snow Plow Blade, 6" wide x %" thick x 9' long with %" Bolt Holes for Western Pro Plus Contractor Grade, Part Number 66901, As Specified	100	EA	\$102.16	\$10,216.00		Black Cat #WES 63990-5
8	Snow Plow Blade, 6" wide x ¾" thick x 10' long for Western Plow, Western Part Number 58818, As Specified	100	EA	\$113.51	\$11,351.00		Black Cat #PBA 5612054

Introduced on: May 17, 2023 Adopted & DOSAL DM AU ME 2023 REPORT Official Besolytion# 203300868 DES, GRADER BLADES, AND BOLTS

Page 5

WINTER EQUIPMENT COMPANY, INC.

PROPOSAL DOCUMENT REPORT Bid No. TBD

SNOW PLOW BLADES, GRADER BLADES, AND BOLTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Comments
9	Snow Plow Blade, 6" wide x %" thick x 11' long with %" Bolt Holes for Gledhill Plow, Gledhill Part Number 7784-A3, As Specified	300	EA	\$124.84	\$37,452.00		Black Cat #PBA 5613254
10	Rubber Snow Plow Blade, 8" wide x 1½" thick x 8' long for Western Plow, Western Part Number 608291, As Specified	40	EA	\$456.00	\$18,240.00		Winter Equipment
11	Rubber Snow Plow Blade, 8" wide x 1½" thick x 8½' long for Western Plow, Western Part Number 608292, As Specified	40	EA	\$485.00	\$19,400.00		Winter Equipment
12	Rubber Snow Plow Blade, 8" wide x 1½" thick x 9' long for Western Plow, Western Part Number 608321,	40	EA	\$513.00	\$20,520.00		Winter Equipment
13	Rubber Snow Plow Blade for Gledhill plow, 10" wide x 1½" thick x 9' long with Bolt Hole Pattern AS PER ATTACHED SKETCH. Same Bolt Hole Pattern as Gledhill Part Number 7210-B9, As Specified	50	EA	\$522.00	\$26,100.00		Winter equipment
14	Rubber Snow Plow Blade, 10" wide x 1½" thick x 11' long with Bolt Hole Pattern AS PER ATTACHED SKETCH. Viking Part Number 180071, As Specified	50	EA	\$638.00	\$31,900.00		Winter Equipment
15	Universal Curb Shoe for Gledhill Plow, Chemung Part Number, OST-1500, As Specified	200	EA	\$104.10	\$20,820.00		Black Cat #CURB OST1500
16	Moldboard Shoe for 11' Gledhill Plow, Gledhill Part Number 15646-C or SAM Buyers Part Number 1317140, As Specified	50	EA	\$149.10	\$7,455.00		Winter Equipment #MS702310
17	Plow Shoe (Mushroom Type) for Gledhill Plow, Gledhill Part Number SP-185-HI, As Specified	100	EA	\$191.30	\$19,130.00		Black Cat #GLED SP185H1
18	Mushroom Shoe Assembly for Gledhill Plow, Gledhill Part Number 7230-A11, As Specified		EA	No Bid	No Bid	Х	Quoting Blades for Carriage Bolts
19	Plow Shoe Bolt for Gledhill Mushroom Shoes (Square Head), Gledhill Part Number 5308-A532, As Specified		EA	No Bid	No Bid	Х	5 Weeks ARO

Introduced อาวิการ์ Adopted on: Official Resolution 2023 Works of BLADES, AND BOLTS